

NAME: Alackjani, Victory Abiolaun.

DEPARTMENT: M.B.B.S

MATRICULATION NUMBER: 19/MHSD1/082

COURSE CODE: MATH 104

$$1.) \int \frac{11-3x}{x^2+2x-3} dx$$

Solution:

$$\frac{11-3x}{(x-1)(x+3)} = \frac{A}{(x-1)} + \frac{B}{(x+3)}$$

$$\frac{11-3x}{(x-1)(x+3)} = \frac{A(x+3) + B(x-1)}{(x-1)(x+3)}$$

Multiply through by  $(x-1)(x+3)$ .

$$11-3x = A(x+3) + B(x-1)$$

$$11-3x = Ax + 3A + Bx - B$$

$$11-3x = (A+B)x + (3A-B)$$

$$A+B = -3 \quad \text{--- (1) } \times 3$$

$$3A-B = 11 \quad \text{--- (2) } \times 1$$

$$3A + 3B = -9 \quad \text{--- (3)}$$

$$-3A - B = 11 \quad \text{--- (4)}$$

$$\frac{4B = -20}{4 \quad 4} \quad \text{--- (5)}$$

$$B = -5$$

Put  $B = -5$  in (1)

$$A + (-5) = -3$$

$$A - 5 = -3$$

$$A = -3 + 5$$

$$A = 2$$

$$\therefore A = 2 \text{ and } B = -5$$

$$\int \frac{2 dx}{x-1} + \int \frac{-5 dx}{x+3}$$

$$\text{Let } u = x-1$$

$$\frac{du}{dx} = 1$$

$$du = dx$$

$$\therefore = 2 \int \frac{du}{u}$$

$$= 2 \ln u$$

$$= 2 \ln(x-1) - 5 \ln(x+3) + C$$

$$\text{Let } u = x+3$$

$$\frac{du}{dx} = 1$$

$$du = dx$$

$$\therefore = 5 \int \frac{du}{u}$$

$$2) \int \frac{4x-16}{x^2-2x-3} dx$$

Solution

$$\frac{4x-16}{(x+1)(x-3)} = \frac{A}{(x+1)} + \frac{B}{(x-3)}$$

$$4x-16 = A(x-3) + B(x+1)$$

$$(x+1)(x-3) \quad (x+1)(x-3)$$

Multiply through by  $(x+1)(x-3)$ .

$$4x-16 = A(x-3) + B(x+1)$$

$$4x-16 = Ax-3A+Bx+B$$

$$4x-16 = (A+B)x - (3A-B)$$

$$A+B = 4 \quad \text{--- (1) } \times 3$$

$$-3A+B = -16 \quad \text{--- (2) } \times 1$$

$$3A+3B = 12 \quad \text{--- (3)}$$

$$+ \quad -3A+B = -16 \quad \text{--- (4)}$$

$$4B = -4$$

$$4 = 4$$

$$B = -1$$

Put  $B = -1$  in ①

$$A + (-1) = 4$$

$$A - 1 = 4$$

$$A = 4 + 1$$

$$A = 5$$

$\therefore A = 5$  and  $B = -1$

$$\int \frac{5x}{x+1}$$

Let  $u = x+1$

$$\frac{du}{dx} = 1$$

$$du = dx$$

$$\therefore = 5 \int \frac{du}{u}$$

$$= 5 \ln u$$

$$= 5 \ln(x+1) - \ln(x-3) + C$$

$$+ \int \frac{-1}{x-3} dx$$

Let  $u = x-3$

$$\frac{du}{dx} = 1$$

$$du = dx$$

$$\therefore = -1 \int \frac{du}{u}$$

$$3) \int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx$$

Solution

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)}{(x+1)(x-2)(x+3)}$$

Multiply through by  $(x+1)(x-2)(x+3)$

$$2x^2 - 9x - 35 = A(x^2 + x - 6) + B(x^2 + 4x + 3) + C(x^2 - x - 2)$$

$$2x^2 - 9x - 35 = Ax^2 + Ax - 6A + Bx^2 + 4Bx + 3B + Cx^2 - Cx - 2C$$

$$2x^2 - 9x - 35 = (A+B+C)x^2 + (A+4B-C)x + (-6A+3B-2C)$$

$$A + B + C = 2 \quad \text{--- (1)}$$

$$A + 4B - C = -9 \quad \text{--- (2)}$$

$$-6A + 3B - 2C = -35 \quad \text{--- (3)}$$

From (1)

$$A = 2 - B - C \quad \text{--- (4)}$$

Put (4) in (2)

$$2 - B - C + 4B - C = -9$$

$$-B + 4B - C - C = -9 - 2$$

$$3B - 2C = -11$$

$$3B = -11 + 2C$$

$$B = \frac{-11 + 2C}{3} \quad \text{--- (5)}$$

Also Put (4) in (3)

$$-6(2 - B - C) + 3B - 2C = -35$$

$$-12 + 6B + 6C + 3B - 2C = -35$$

$$6B + 3B + 6C - 2C = -35 + 12$$

$$9B + 4C = -23 \quad \text{--- (6)}$$

Put (5) in (6)

$$9\left(\frac{-11 + 2C}{3}\right) + 4C = -23$$

$$3(-11 + 2C) + 4C = -23$$

$$-33 + 6C + 4C = -23$$

$$10C = -23 + 33$$

$$10C = 10$$

$$C = \frac{10}{10}$$

$$C = 1$$

Put  $C = 1$  in (5)

$$B = \frac{-11 + 2(1)}{3}$$

$$B = \frac{-9}{3}$$

$$B = \frac{-11+2}{3}$$

$$B = \frac{-9}{3}$$

$$B = -3$$

Put  $B = -3$  and  $C = 1$  in (4)

$$A = 2 - (-3) - 1$$

$$A = 2 + 3 - 1$$

$$A = 5 - 1$$

$$A = 4$$

$\therefore A = 4, B = -3$  and  $C = 1$

$$\therefore \int \frac{4}{x+1} dx + \int \frac{-3}{x-2} dx + \int \frac{1}{x+3} dx$$

$$\text{Let } u = x+1$$

$$\frac{du}{dx} = 1$$

$$du = dx$$

$$\therefore \int \frac{du}{u}$$

$$= 4 \ln u$$

$$\text{Let } u = x-2$$

$$\frac{du}{dx} = 1$$

$$du = dx$$

$$\therefore \int \frac{du}{u}$$

$$= -3 \ln u$$

$$\text{Let } u = x+3$$

$$\frac{du}{dx} = 1$$

$$du = dx$$

$$\therefore \int \frac{du}{u}$$

$$= \ln u$$

$$\therefore = 4 \ln(x+1) + (-3 \ln(x-2)) + \ln(x+3)$$

$$= 4 \ln(x+1) - 3 \ln(x-2) + \ln(x+3) + c$$